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@ 18:26 ® 126: 118
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@x(1+0.26) = @x(1 - 0.18)

@Dx1.26 =x0.82

@D:@ = 0.82:1.26

@:@ =82:126 = 41 : 63
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=10x10Xx12-5x5x3.14x 12

= 1200 — 942
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@ 6 cm? @ 6.82cm?
1

® 7.12cm? @ 75 em?2

(3)7.28 cm?
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=(35%x32+2)+(28%x1.2+2)
= 5.6+ 1.68 = 7.28( cm?)
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1km = 1000m, 1 m = 0.001 km

SHol7t A& g9 A 750 - 10 = 740(m)

SHo|7t £ g9l AR 750 - 9 - 15 = 726(m)

7zl 2] x}o]: 740 - 726 = 14(m)
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407} 0.75(km) & @7 Az 0.75 + 0.007 = 107.14 -+ (
%) = 107.1( %)
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1.125L = 1125 cm?
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(15x10x[ - (5x5x[ ) =1125
150 x[_|-25x[ ]=1125
(150 — 25) x[_]=1125

125 x[_|=1125

[ ]=1125+125

[ ]=9(cm)
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@ 175.84 cm? @ 178.98 cm? @ 200.96 cm?

@ 207.24 cm? @251.2 cm?
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(U] Ho]) =3x3x3.14—1x1x3.14

= 28.26 — 3.14 = 25.12( cm?)
(BP2E 9ylo]) = 6 x 3.14 x 8 = 150.72( cm?)
(SFZ Fylo]) = 2x 3.14 x 8 = 50.24( cm?)
(AA AHol) = 25.12 x 2 + 150.72 + 50.24

= 251.2( cm?)
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